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PLANIMETRIA STRADA IN PROGETTO - PARTE 2

scala 1:1.000

PARAMETRI VERTICI IN PROGETTO

VERTICE 23
XT1 = 460303.330

XV
YT1 =4913961.928 YV
SVC1= 0.000 AV
XTC1= 460303.330

AD
YTC1=4913961.928
AC1 =

460302.735
4913980.639
144.2659
55.7341
XC = 460263.351
0.000 YC =4913960.655
R = 40.000
SVRC=  35.019

SVL=  35.019
VE
XV

XT1 = 460258.209

YT1 =4914038.815

460255.151
SVC1=

YV
AV
XTC1= 460258.209

XT2 = 460287.986
YT2 = 4913992.169
SvC2= 0.000
XTC2= 460287.986
YTC2=4913992.169
AC2 = 0.000

XT1 = 460279.198

YT1 =4913999.039
SVC1= 0

YTC1= 4913999.039
AC1=  0.000

VERTICE 24

460265.895
4914009.438
158.5324

AD 41.4676
XC = 460309.993
YC =4914038.430
R = 50.000
SVRC=  32.569
SVL=  32.569

AV

YTC1=4914038.815

AD

16.9913

SVC2=

0.000

XT1 = 460255.422

XTC2= 460255.283
XC = 460345.278
AC1 = 0.000

YC =4914061.596
R =

SVRC=

24.021
SVL =

24.021

YTC2= 4914062.585
AC2 = 0.000
90.000

YT1 =4914075.192
SVC1= 0.000

AV
XTC1= 460255.422 AD
YTC1=4914075.192

460255.662
4914097.080
119.7433
80.2567

XT2 = 460261.621
YT2 = 4914025.774
SVC2= 0.000
XTC2= 460261.621
YTC2=4914025.774
AC2 = 0.000

RTICE 25 VERTICE 26
XT2 = 460255.283
4914050.504
0.000

YT2 = 4914062.585
183.0087

XT2 = 460234.892
YT2 =4914103.988
SVC2= 0.000

XTC2= 460234.892
XC = 460225.424
AC1 = 0.000

XT1 = 460232.406
YT1 =4914104.815
SVC1=
XTC1= 460232.406
YTC1=4914104.815

VE
XV
YV

AV
AD

460221.711

RTICE 27 VERTICE 28
XT2 = 460210.732

4914108.373

0.000

XT1 = 460207.459
YT1 =4914105.062
0.000

165.0282
34.9718

YT2 =4914105.823
SVC2=

YC =4914075.522

R =
SVRC=
SVL =

YTC2=4914103.988

AC2 = 0.000
30.000

37.820
37.820

460195.287

AC1=  0.000

XC = 460219.782
YC =4914066.860
R = 40.000

XTC2= 460210.732
YTC2=4914105.823
AC2 = 0.000

SVC1=

0.000

XTC1= 460207.459
YTC1=4914105.062

4914102.235
AD

XT2 = 460182.888
YT2 =4914103.794
177.5077

SVRC=

21.973

AC1 =

SvC2=  0.000
22.4923

SVL =

21.973

XC = 460191.621
0.000

YC =

XTC2= 460182.888

XT1 = 460172.190

XV = 460141.563
YT1 =49141

R =

SVRC=

SVL=

4914173.247

24.732
24.732

YTC2=4914103.794
AC2 = 0.000
70.000

39 YV
SVC1= 0 AV
XTC1= 460172.190

AD
YTC1=4914105.139
AC1 =

4914108.991
116.3158
83.6842

XC = 460177.180

0.000 YC =4914144.827

XT2 = 460137.524
YT2 = 4914139.594
SvC2= 0.000
XTC2= 460137.524
YTC2= 4914139.594

XT1 = 460137.166

YT1 =4914142.309
0.000

SVC1=

AC2 =
R = 40.000
SVRC=  52.580

SVL=  52.580

XT1 = 460117.285

AV
XTC1= 460137.166

AD
YTC1=4914142.309
0.000 AC1 =

0.000

460135.252
4914156.811
176.9736
23.0264
XC = 460057.853
YC =4914131.843

R = 80.000

XT2 = 460128.330

YT2 = 4914169.698

SVC2=
XTC2=

0.000
460128.330

YTC2=4914169.698

AC2 =

0.000

SVRC=
SVL =

28.936
28.936

XV
YT1 =4914190.262 YV
SVC1= 0.000 AV
XTC1= 460117.285

AD
YTC1=4914190.262
AC1 =

460108.134
4914207.298
102.1414
97.8586
XC = 460099.666

0.000

XT2 = 460090.800

YT2 = 4914198.726
SVC2=

0.000

XT1 = 460072.999

YT1 =4914189.923
0.000 SVC1=
XTC2= 460090.800

460061.403
4914184.188

YC =4914180.798

R = 20.000
SVRC=

SVL =

30.743

XT1 = 460037.468

XV
YT1 =4914158.291 YV
0.000

SVC1=

30.743

460030.021
4914150.234

XTC1= 460037.468

AV

188.3914

AD 11.6086
YTC1=4914158.291 XC = 460125.594
AC1 = 0.000

YC =4914076.842

R =
SVRC=
SVL =

XT1 = 459993.060 XV
YT1 =4914083.161 YV
SVC1= 0.000

120.000

21.882
21.882

459990.453
4914072.370

YTC2=4914198.726
AC2 =

AC

XT2 = 460024.159

YT2 =4914140.960
SvC2=

XTC1= 460072.999 AD
YTC1=4914189.923
0.000

1= 0.000

176.7322
23.2678
XC = 460104.029

XT2 = 460052.622
YT2 = 4914174.688
SVC2= 0.000

XTC2=

460052.622

YC =4914127.176
R = 70.000
SVRC=  25.584
SVL=  25.584

YTC2=4914174.688
AC2 = 0.000

SVC1= 0.000
XTC2= 460024.159

YTC2=4914140.960
AC2 =

AC1 =

XTC1= 460002.586 AD
. YTC1=4914106.831
0.000

0.000

XT1 = 460002.586
YT1 =4914106.831
0.000

459996.422
4914097.080

XT2 = 459993.713

XC =

YC =4914069.429

R =

SVRC=

SVL =

YT2 = 4914085.867
179.2043

SVC2=
20.7957

0.000

XTC2= 459993.713
460061.756

YTC2= 4914085.867

AC2 = 0.000
70.000

22.866
22.866

XTC1= 459993.060

AV

XT2 = 459990.883

AD
YTC1=4914083.161
AC1 =

YC =4914064.375
R =

SVRC=  22.062

AC1 =

YT1 =4914032.142

AV
XTC1= 459992.012 AD
YTC1=4914032.142

XT1 = 459992.012
YT2 = 4914061.276
182.4435 SVC2= 0.000 SVC1= 0
17.5565 XTC2= 459990.883
XC = 460070.823 YTC2= 4914061.276
0.000 AC2 = 0.000
80.000

.000

459992.499
4914019.571
173.6844

XT2 = 459987.896
YT2 = 4914007.863
SVC2= 0.000
26.3156

SVL =

22.062

XTC2= 459987.896
XC = 459932.057
0.000

YC =4914029.818
R =

YTC2=4914007.863

XT1 = 459987.790 XV
YT1 =4914007.595

SVRC=
SVL =

AC2 = 0.000
60.000

24.802
24.802

SVC1=

0.000

459983.972
YV

AV
XTC1= 459987.790 AD
YTC1=4914007.595 XC =

AC1 =

4913997.883
138.7689
61.2311

XT2 = 459973.822

YT2 = 4913995.460
SVC2=

XT1 = 459964.786

YT1 =4913993.302
0.000

0.000

459969.177

XTC2=

459973.822

SVC1=

0.000

459953.443

YC =4914014.913

AC2 = 0.000
R = 20.000
SVRC=

YTC2=4913995.460

AC1 =

XTC1= 459964.786 AD
YTC1=4913993.302

XC =

4913990.594
185.2189

XT2 = 459941.782
YT2 =4913990.569
SVC2= 0.000
14.7811

SVL =

19.236
19.236

0.000

459941.564
YC =4914090.569
R = 100.000

XTC2=

459941.782

YTC2= 4913990.569

AC2 =

0.000

SVRC=

23.218

XT1= 459918.303
YT1 =4913990.518
SVC1= 0.000

XTC1= 459918.303

XV
YV
AV

459904.632
4913990.488
166.0174

XT2 = 459892.878
YT2 = 4913983.506

XT1 = 459892.747

SVL= 23.218

YTC1=4913990.518

AD 33.9826

SvC2=

XC = 459918.412
AC1 = 0.000

YC =4913940.518
R =

SVRC=
SVL =

XTC2= 459892.878
YTC2=4913983.506
AC2 = 0.000
50.000
26.690
26.690

YT1 =4913983.429
0.000

SVC1=  0.000

AV
XTC1= 459892.747 AD
YTC1=4913983.429

AC1 = 0.000

459882.813
4913977.528
183.7424
16.2576
XC = 459938.708
YC =4913906.049

90.000

XT2 = 459874.691

YT2 =4913969.309

SVC2= 0.000
XTC2= 459874.691

YTC2=4913969.309

AC2 =

XT1 = 459863.918
YT1 =4913958.407
SVC1= 0.000
XTC1= 459863.918

YTC1=4913958.407 XC =
AC1 = 0.000

YC =4914028.696

R =

SVRC=

SVL =

> > <X
U<é<
(IR TR T

459855.365

XT2 = 459844.985
4913949.751 YT2 = 4913943.399
184.5817 SVC2= 0.000

15.4183

SVC1
XTC2= 459844.985
459792.788

24.219

YTC2=4913943.399 YTC1=4913931.132
AC2 = 0.000
100.000

AC1 =

XTC1= 459824.938

XT1 = 459824.938
YT1=4913931.132

= 0.000

0.000

22.984
22.984

459814.059
4913924474

SVC2=
20.1298

0.000

XT2 = 459805.789
YT2 = 4913914.764
179.8702

0.000

24.219

XTC2= 459805.789
459866.695

YTC2=4913914.764
YC =4913862.895

AC2 =
R =

SVRC=

80.000

0.000

XT1 = 459758.945
YT1 =4913859.759
SVC1= 0.000
XTC1= 459758.945
YTC1=4913859.759
AC1 = 0.000

XV
YV
AV

459748.769 XT2 = 459733.590 XT1= 459728.824
4913847.810 YT2 =4913843.820 YT1 =4913842.568
161.2730 SVC2= 0.000 SVC1= 0.000
AD 38.7270 XTC2= 459733.590 XTC1= 459728.824
XC = 459720.879 YTC2=4913843.820
YC =4913892.178

YTC1=4913842.568
AC2 = 0.000 AC1 =
R = 50.000

SVRC=  30.416

SVL =

AD
XC =

25.296
25.296

459718.123
4913839.755

180.0398
19.9602

XT2 = 459707.076

YT2 =4913840.380
SVC2= 0.000

SVL =

30.416

0.000

XTC2= 459707.076
459711.029

YTC2= 491384
YC =4913910.268
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70.000

AC2 =

0.000

XT1 = 459704.071

XV

SVRC=
SVL=

21.947
21.947

YT1 =4913840.550
SVC1= AV
XTC1= 459704.071

AD
YTC1=4913840.550
AC1 =

459683.746 XT2 = 459672.713
4913841.699 YT2 = 4913858.808
140.0585 SVC2= 0.000
59.9415
XC = 459706.330 YTC2= 4913858.808
0.000 YC =4913880.486

AC2 = 0.000
R = 40.000
SVRC=

SVL =

YV
0.000

37.662

XT1 = 459632.467
YT1 =4913876.759

XT1 = 459670.340
YT1 =4913862.489
SVC1= 0.000
XTC2= 459672.713 XTC1= 459670.340
YTC1=4913862.489
AC1 = 0.000
37.662

459620.055

459661.894

4913875.587
AV

AD
XC = 459645.127
YC =4913846.231

XT2 = 459646.321
YT2 = 4913876.207
138.9961 SVC2= 0.000
61.0039 XTC2= 459646.321
YTC2=4913876.207

AC2 = 0.000
R = 30.000

SVRC=

28.747
SVL =

28.747

SVC1= 0.000
XTC1= 459632.467

4913877.254
189.4806

XT2 = 459607.732
YT2 = 4913875.700

YTC1=4913876.759

10.5194

SVC2=

0.000

AC1 =

0.000

XC = 459626.496

XTC2=

YC =4913726.878

R =
SVRC=
SVL =

459607.732
YTC2=4913875.700
AC2 = 0.000
150.000
24.786
24.786
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